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/7 Al salda g Casilaell (@oidl Grizadl uz wagy audl. ~\ Seat No.:

Fillup strictly the details of g~ signs on your answer book. || ||
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(2) This exam contains 50 multiple choice questions, each worth

1 mark.

L UsAUAHL 50 As(As usdl 2haL 8, sl s (1) oL ©.
(3) Choose only ONE most appropriate answer per question.

£35 uaniefl Aledl Aod s [useu we s,
(4) Do not crease or fold the answer sheet.

Grr-llend andl ¥ s\l sl -l
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O.M.R. Sheet-ll wiea ida €.

Important instructions to fillup O.M.R. Sheet
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1 el 2uda Weldy sl sid o © 7
(A)  MRAZASIA UL $011]
B) WdlAZASIA 921 13als
(C) Wl AR FHOLL Sl
(D) WAL R €921 sl

Function of ribosomal peptidyl transferase
(A) To collect monosaccharide
(B) To separate polysaccharide
(C) To collect protein molecule

(D) To separate protein molecule

2 <13 U8 sul dAvRAANGAL USRS ?
(A)  sRusHy 21 sRisElA o
(B) Uil 23y Adl
©) susiHy
D) ssifagl
Which of the following is a type of endoplasmic reticulum ?

(A) Both Rough and Smooth
(B) None of these

(C) Rough
(D) Smooth

3 audlmsl sul vuadl & 7

(A) DAL

B) el3mui

(C) ~laseni

(D) AM3wHi
Nucleolus is found in

(A) Cytoplasm

(B) Ribosome

(C) Chloroplast

(D) Nucleus
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4 S0l ARAAL 2R s e @dldl wrti s
(A)  Sidfaen
(B) Ud dMIM
(C) a-fa syl
D) Al sufeal

The study of structure and function of cell is known as
(A) Cell biology

(B) All of these

(C) Plant cytology

(D) Bacterial cytology

5 <12 gl s dassl Sl asene-l wBas <l
(A) 24d13»
(B) -5
(C) Hadd
D) S-2%
Which of the following is not a phase of mitotic cell division?
(A) Telophase

(B) Anaphase
(C) Metaphase

(D) Interphase

6 v AUl UBALAL Hod ¢1oL 89,
(A) AR 2 {2
(B) H215» vl 2elF

(€©) 3RAsUAR{A i 12580

(D)  H213% A A-UFD

The main part of mitotic cell division is and
(A) Mitosis and Meiosis

(B) Metaphase and Telophase

(C) Karyokinesis and Cytokinesis

(D) Metaphase and Anaphase
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DNA-+ [go181 Aolss 1Ml 61 €,
Replication of DNA takes place in
A) M

®B) G,
©) S
D) G

ARas Asde Ml ol 6,
(A) A-Us» - II

B) A-UBD - 1

(C) #ald» -1

(D) Hady - 11

Chiasmata is formed during

(A) Anaphase Il

(B) Anaphase |

(C) Metaphase |

(D) Metaphase II

wyolleios{l ulbaiell Geetadl SN,
(A) sy sy

B) uanidl 3y €l

(€) [zslu elesan

D) [Bsla w8

A cell produced after meiotic cell division
(A) Haploid gamete

(B) None of these

(C) Diploid somatic

(D) Diploid gametes

A4 R3su R usL s8a 8.
(A) e - 1
B) [alw-
(C) AUGUAA
(D) 48l - 10

phase

is also called as Reduction division.

(A) Meiosis 1

(B) Binary fission
(C) Mitosis

(D) Meiosis 11
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11 wldgel (@RI olle 6 quid ag SNl (st »ied
A (B«
(B) Ud dMIM
(C) AHMIA~L

(D) ndYAlei-

After the replication of DNA, cell divides twice which is known as
(A) Binary fission

(B) All of these

(C) Mitosis

(D) Meiosis

12 RPN, 6o PDRPISLAA . qdead 9,
(A)  ysdlaldn
B) ~ussust
(C) ysedln
(D) sy

Chromosomes consists of two chromatids and
(A) Nucleosome

(B) Spindles

(C) Nucleus

(D) Centromere

13 3 U4 sl dotss) el uBai-l ol ?
(A) ¥UED - 11
B) uanidl 3y €l
(C)  AASAR(A
(D) Hady - 11
Which of the following is not a phase of meiotic cell division ?
(A) Anaphase - II
(B) None of these
(C) Cytokinesis
(D) Metaphase - 11
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14 95994 R+ vied
(A) Yl - 11
B) [alw-
(C)  wndyllons- - 1
(D) AHGUL
Equation division means
(A) Meiosis - 11

(B) Binary fission
(C) Meiosis - 1
(D) Mitosis

15 3 U4 5y (zdly Sl 8.
(A) s
(B) Uil 23y Adl
(C) Usdl™
(D) sluais
Which of the following is diploid ?
(A) Ovum
(B) None of these
(C) Sperm cell
(D) Zygote

16 RPN AAE®s olure 8,
(A)  ysell»lullA
B) udlysdlzass
(C) ~ysdlvilads
D) yselluiAds

Chemical composition of chromosome is
(A) Nucleoprotein

(B) Polynucleotide

(C) Nucleotide

(D) Nucleoside
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{12 U4l 3 Foryoll-ll AL HI2 1Y sHHL B 7

(A) SR - YsdlPldM - AANDS - 51933

B) YsdlBAH - AAASS - Sl - 51933

(C)  Ysdl2AH - AAAS: - HHILR - sl

(D) 53 - AA-ASS - Ysell2AAH - sl

Which of the following is in the best order for chromosomal structure ?
(A) Chromonema — Nucleosome — Solenoid — Chromatid

(B) Nucleosome — Solenoid — Chromonema - Chromatid

(C) Nucleosome — Solenoid — Chromatid — Chromonema

(D) Chromatid — Solenoid — Nucleosome — Chromonema

SNUL 59 AL dd Yl ?

(A) SN ol

(B) sueldle

(C) A2H{luR

(D) -lasal

Which of the following is a non-living thing in the cell ?
(A) Endoplasmic reticulum

(B) Cell wall

(C) Centromere
(D) Chloroplast

Alaseidl s 3dl U 8 7
(A) gl %dl

(B) Ud dMIM

(C) AalsiR

(D) WIEASR

Shape of the chloroplast

(A) ribbon shape

(B) All of these

(C) network

(D) cup shape

Sl Al uBAL AL 56 AR Alal AL & 7
A) el

(B)  $RUMRYAL

(C) Ne(lsin

(D) $N3

Which cell organelles is responsible for cellular respiration ?
(A) Ribosome

(B) Mitochondrion

(C) Golgi body

(D) Nucleus
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21 s aa®isdl -
A) llasa-dl g1a3l v Suglaa-dl sl oa
B) uanidl 3y €l
(©) +lasa-l sl
D) sinelalasdl sl
Characteristics of plant cell
(A) Both Presence of chloroplast and Presence of cell wall
(B) None of these
(C) Presence of chloroplast

(D) Presence of cell wall

22 FeloAHMl 80 SHL'S' g suld © 7
(A) A-glsyoa s
B) A-dlHleR
(C) SI »isH
(D) W30 sy
What is "S" in a 80S ribosome ?
(A) Centrifugal force
(B) Centimeter
(C) Slunit
(D) Svedberg unit

23 sl 59 2015 Aaauelele dsANgL 52 O 7
(A) $N3
B) elAn
(C)  aASAAH
(D) -lasal
Which cell organelles are responsible for synthesis of protein ?
(A) Nucleus
(B) Ribosome
(C) Lysosome
(D) Chloroplast
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24 ARML oAl HA 6.

(A)
B)
©
(D)

(A)
B)
©
(D)

olloAln
ASALAA
SRUMRYL
SN
is found in bacteria.
Ribosome
Lysosome
Mitochondrion

Nucleus

25 sRUMYRL Yud sid

(A)
B)
©
(D)

SN AIBLS Wowoldls wudlsd
wuaHiell 213y €l

SN A sINld WA
Pyl vt A0{ Al AAS

Important function of mitochondrion

(A)
B)
©
(D)

provides mechanical strength to the cell
None of these
intracellular & extracellular digestion

storage of protein and lipid

26 WML Y %l 1A 9.

(A)
B)
©
(D)

Qe[S 249 wRllsiy o
GURAsd A3Y Al

A fasin

wig{lsiy

Vacuole is present in

(A)
B)
©
(D)

both plant cell and animal cell
None of these
plant cell

animal cell
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30

A-nidl 83 dael 2RsNSdlA s el ?
(A)  SMEwssll M

(B)  SRUMYAAL I

(C) DNA- (81 e 238l

(D) vealsd Silisiail

Which of the following is not the characteristic of Prokaryotes ?

(A) Absence of nucleus

(B) Absence of mitochondria

(C) DNA is connected to Histones

(D) Absence of membrane bound organelles

i SNRAANG $4L Bl 1oL & 7
ENELERA

(B) sl

(C) R

D) s 3[=sml

The ER is present in
(A) Nucleus

(B) Cytoplasm

(C) Chromosomes
(D) Nucleolus

SRESINERE) w1dg €.
(A)  $RUMRYL
(B) N dHIM
(©) +lasal
(D) 20l
is present in plant cell.
(A) Mitochondrion
(B) All of these
(C) Chloroplast
(D) Golgi body

{12 U4l s welland Gelsw & ?
A) lasRd dla

(B) AL

(C) sl

D) [anigy

Which of the following is an example of animal cell ?
(A) Blue green algae

(B) Bacteria

(C) Red blood cell

(D) Virus
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33

ustaisANELl 2852 WBAL {lasoirl (1) AtHl il 1oL 8. (i) WML Aal
WAL 8. (sl doxdl asR.

(A)  $5d (i) AR 2 (1) g D,

(B) ol (i) 27 (i) AAL D,

(C) ot (i) 27 (ii) vl 9.

(D)  $5d (i) A A (i) W .

Dark reaction of photosynthesis takes place in
(1)  Grana of the chloroplast.

(i)  Stroma of the chloroplast.

(A) Only (i) is right and (i) is wrong.

(B) Both (i) and (i1) are right.

(C) Both (i) and (ii) are wrong.

(D) Only (1) is right and (ii) is wrong.

ssll 58 2iRust “‘vuciandl slaoll” adly s>doeun © 7
(A)  alAAH

(B) sHAA

(C) Ne(lsin

D) ellAH

Which of the cell organelle is called 'suicide bag' of the cell ?
(A) Lysosome

(B) Chromosome

(C) Golgi body

(D) Ribosome

SEL-$EL Vil vid:isal Ui al A 8.
(A)  ~llasel v seutysl o=

B) uanidl 3y €l

(©) +lasal

(D) SRR

Inner membrane and outer membrane is present in
(A) Both Chloroplast and Mitochondrion

(B) None of these

(C) Chloroplast

(D) Mitochondrion
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34 708 oiAH ST
A) lasal
(B) Ud dMIM
(C)  $RUMRYL
D) Ay

708 ribosome is found in
(A) Chloroplast

(B) All of these

(C) Mitochondrion

(D) Bacteria

35  wellansl ciaisdl. .
A)  sivelaa-dl sl
(B) 3y 4l
(©) Rl e
D) llasa-l sl

Characteristics of animal cell
(A) Presence of cell wall
(B) None of these

(C) Presence of vacuoles
(D) Presence of chloroplast

36 Sved
(A)  wAe(lHiA ved 8,
B) dduaudla ved €.
(C) wdula ved €.
D) wududla ved €.
Cell membrane is
(A) Selective permeable membrane
(B) Semi permeable membrane
(C) Permeable membrane
(D) Non permeable membrane

37 URANSEl A PSSl ANUL SO WAL AHIAYRL Sl HOL & 7
(A) A% A SNFgued
(B) sRUMYA vl sRasvl
(C) olellsin i R+l

(D)  SANRAAR 2 RedAA

Which of the following is a common structure in both Prokaryotes and Eukaryotes?
(A) Nucleus and nuclear membrane

(B) Mitochondria and chloroplast

(C) Golgi body and vacuoles

(D) Cell membrane and ribosome
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38 slul ISR
(A) a-lsR
(B) Ud dMIM
(C) Aval
D) ogselly
The shape of a cell
(A) Cuboidal
(B) All of these
(C) Flat
(D) Polygonal

39 dl SN 3wl Sudvw veaalB 2 SNAML SRUMPRN Al Hodl Al
(A) uwa &S Uud
(B) i35 &Y U
(C) asRuL €S w3
(D) YA €S U3

The cell which haven't possess nuclear membrane and mitochondria in the
cytoplasma.

(A) May be protozoa
(B) May be ovum

(C) May be bacteria
(D) May be sperm cell

40 llasa-l s Hi €y 6,

(A Hleul

B) a2l

(C) dla-l sain

D) quHlllam

Chloroplast is found in

(A) amoeba

(B) Oscillatoria

(C) algal cell

(D) paramecium
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41 Smale S8l Yy sl 7
(A) awl
(B) Uil 23y Adl
(C) Ao slB+
(D) 3¥{ldl ollell
Who proposed the cell theory?
(A) Lambda
(B) None of these
(C) Robert Brown
(D) Camille Golgi

42 AN, SRUMHYA A {lasei-dl w1t Hi Al Ha 9,
(A)  ald Sy
(B) Uil 23y Adl
C) @Ay
D) uelsin
Nucleus, mitochondrion, chloroplast are absent in
(A) Plant cell
(B) None of these
(C) Bacteria
(D) Animal cell

43 3RAEs slv A NBRAELs Avell 55 Ad gEl w3 S 7
(A)  saualRd 2iPsil siRl 2 YlasRid Sud< o
B) uanidl 3y €l
(©) sazudRd »iRsi-l el
D) YlsRha auz-

How eukaryotic cell differs from prokaryotic cell?

(A) Both Membrane bound organelles and Well defined nucleus
(B) None of these

(C) Membrane bound organelles

(D) Well defined nucleus
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44 Sglaiasd AR ol {12 UG 53 el ?
ENIRLRECIE YR
(B) A4
(C) Wl
D) s152l+
Which of the following is not a chemical composition of cell wall ?
(A) Peptidoglycan
(B) Cellulose
(C) Protein
(D) Chitin

45 2URANSGHL SAL USIRL Rolsd 2dal 8 7

Which kind of ribosome is found in prokaryotes?
(A) 70s

(B) 60s
(C) 90s

(D) 80s

46 SRUMHYA] 13l Hi Sl 8,

(A)  uHlellam

(B) Ud dMIM

(€©) U{lRflelun

(D) iHleul

Mitochondrion is found in

(A) Paramecium

(B) All of these

(C) Penicilium

(D) Amoeba

47 wellay i qaufasivel Al sl siel el w3 © ?
(A)  dlRud
B) elAn
(C)  A-esm
(D) SRR
An animal cell can be differentiated from a plant cell by the presence of-
(A) Centriol
(B) Ribosome
(C) Endoplasm
(D) Mitochondria
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48 RANSEA Al lAuniell 55 - Al Hadl Al ?
(A)  dlRud
(B) Ud dMIM
(C) sM3lssl
D) valaglq »iPisizi
Which of the following is not seen in prokaryotes ?
(A) Centriol
(B) All of these
(C) Nucleolus

(D) Absence of membrane bound organelles

49 amdle uR LR MUl A4l QA @y uadl <l ?
(A) sl
(B) AU
(C) Mllken
(D) U9l
Which one of the following is an exemption to cell theory?
(A) Bacteria
(B) Viruses
(C) Protists
(D) Protozoan

50 DNA Hi w1dg 9.
(A) SN
(B) Ud dMIM
(©) +lasal
(D)  $RUMYA
DNA is present in
(A) Nucleus
(B) All of these

(C) Chloroplast
(D) Mitochondria
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